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1. a7 U—Fh (24-12-25BB)
(0. 40+0. 43) /2X 0. 60 X 5. 336 = 1.33
2. TR
(0. 40+0. 43) /2<0. 60X 2 = 0.50
(0. 60+0. 43) X 5. 336 = 5. 50
> = 6. 00
3. ®kfh (SD345)
D13 - kg
D16 179.4 kg
D19 - kg D13 = -
D22 - kg
D25 - kg D16~D25 = 179. 4
4, 7o h—¥EA D16 (1L=240)
X L IXEERERT,
D16 (1L=240) = 42

[100424 v A&

D16 (L=240) = (7 X0.026 2/4%0.25-7 X0.016°2/4X0.24) X 1004 X 1. 20 (kL. E) X 1000=10. 14kg/100A4
5. HIlfL
$ 26 X 250 = 42
6. F v L TIKBEN
0.601 X5. 336 = 3.21
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1. a7 U—Fh (24-12-25BB)
(0. 30+0. 25) /2% 0. 50 X 5. 336 = 0.73
2. TR
(0. 30+0. 25) /2 0. 50X 2 = 0.28
(0. 50+0. 25) X 5. 336 = 4. 00
> = 4,28
3. ®kfh (SD345)
D13 - kg
D16 154.9 kg
D19 - kg D13 = -
D22 - kg
D25 - kg D16~D25 = 154.9
4, 7o h—¥EA D16 (1L=240)
X L IXEERERT,
D16 (1L=240) = 42

[100424 v A&

D16 (L=240) = (7 X0.026 2/4%0.25-7 X0.016°2/4X0.24) X 1004 X 1. 20 (kL. E) X 1000=10. 14kg/100A4
5. HIlfL
$ 26 X 250 = 42
6. F v L TIKBEN
0.502X5. 336 = 2.68

7. XPRT

WA VAVUEL

m3

m2

m2

kg

kg

ZS

L

m2



PUAGIN A BEgihE T FEataR

[ KIE & ]

T f& i a1l WO - STk BT o o= g

P1A& .

B T A 1.0
=7 U — | [24-12-25BB m3 3. 20
TR m2 14. 23
73i] SD345, D13 kg -
I SD345, D16~D25 kg 521.5
2PN D16 (1L.=240) N 88 |=h" ¥V A
HIlFL ¢ 26X 250 L 88
Fo s
KL m2 7. 42
AR T VT Gk | m

[&2%]

v ¥R |D16  (1L=240) ke/1004 10. 14 |7vh-ny ) AE2YS 5




PUAEI 25 JAE fAg T

1. a7 U—Fh (24-12-25BB)
1. 56 X 6. 503X 0. 60 = 6.09 m3
ek
—0. 78 X0.667/2X0. 60X 4 = -0.62 m3
—(0. 76 X 5. 45-0. 38 X 0. 325/2 X 4) X 0. 60 = -2.34 m3
B
(0. 04+0. 031) /2X0. 18 X (4. 80X 2+0. 50 X 4) = 0.07 m3
> = 3.20 m3
2. HP
(5. 169 X 2+1. 026 X 4) X 0. 60 = 8.67 m2
1. 56 X 6. 503-0. 78 X 0. 667/2 X 4 = 9.10 m2
PR
—(0. 76 X 5. 45-0. 38 X 0. 325/2 X 4) = -3.90 m2
B
0. 031 X (4. 80X 2+0. 50X 4) = 0.36 m2
> = 14.23 m2
3. #kAn (SD345)
D13 : - kg
D16 : 521.5 kg
D19 : - kg D13 = - kg
D22 - kg
D25 - kg D16~D25 = 521.5 kg
4. 7o —fA D16 (L=240)
X L IXEEREE T,
D16 (1=240) = 88 A
[1007424 v EAE]
D16 (1L=240) = (7t X0.026°2/4X0.25-7 X0.016"2/4%0.24) X 1004 X 1. 20 (kL H) X 1000=10. 14kg/1004

5. HIlfL

¢ 26 X250 = 88 fL



6. F v BT KTEWN

(4. 80X 2+0. 50X 4) X (0. 42+0. 04+0. 180) 7.42 m2

7. XPRT 2N VAVINI



